
לחוצים לקראת ממ"ן 19? 
פנו עוד היום ושריינו לעצמכם מקום. 
Model 1: OLS, using observations 1-40

Dependent variable: Y

	 
	Coefficient
	Std. Error
	t-ratio
	p-value
	

	const
	846.002
	411.526
	2.0558
	0.04691
	**

	X
	0.77899
	0.0375395
	20.7512
	<0.00001
	***

	R
	-37.518
	20.925
	-1.7930
	0.08116
	*


	Mean dependent var
	 3599.075
	
	S.D. dependent var
	 1705.357

	Sum squared resid
	  8936250
	
	S.E. of regression
	 491.4471

	R-squared
	 0.921212
	
	Adjusted R-squared
	 0.916953

	F(2, 37)
	 216.3073
	
	P-value(F)
	 3.84e-21

	Log-likelihood
	-303.0925
	
	Akaike criterion
	 612.1850

	Schwarz criterion
	 617.2516
	
	Hannan-Quinn
	 614.0169
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Model 2: OLS, using observations 1-15

Dependent variable: Y

	 
	Coefficient
	Std. Error
	t-ratio
	p-value
	

	const
	752.156
	448.007
	1.6789
	0.11900
	

	X
	0.810097
	0.104517
	7.7509
	<0.00001
	***

	R
	-36.5749
	19.9013
	-1.8378
	0.09096
	*


	Mean dependent var
	 2107.933
	
	S.D. dependent var
	 635.2530

	Sum squared resid
	 889398.7
	
	S.E. of regression
	 272.2436

	R-squared
	 0.842575
	
	Adjusted R-squared
	 0.816337

	F(2, 12)
	 32.11327
	
	P-value(F)
	 0.000015

	Log-likelihood
	-103.7110
	
	Akaike criterion
	 213.4219

	Schwarz criterion
	 215.5461
	
	Hannan-Quinn
	 213.3993


Model 3: OLS, using observations 26-40 (n = 15)

Dependent variable: Y

	 
	Coefficient
	Std. Error
	t-ratio
	p-value
	

	const
	629.783
	1273.44
	0.4946
	0.62984
	

	X
	0.75554
	0.125153
	6.0369
	0.00006
	***

	R
	-18.1131
	53.7048
	-0.3373
	0.74174
	


	Mean dependent var
	 5306.333
	
	S.D. dependent var
	 1349.379

	Sum squared resid
	  6301768
	
	S.E. of regression
	 724.6705

	R-squared
	 0.752790
	
	Adjusted R-squared
	 0.711588

	F(2, 12)
	 18.27085
	
	P-value(F)
	 0.000228

	Log-likelihood
	-118.3963
	
	Akaike criterion
	 242.7925

	Schwarz criterion
	 244.9167
	
	Hannan-Quinn
	 242.7699


Model 4: WLS, using observations 1-40

Dependent variable: Y

Variable used as weight: w

	 
	Coefficient
	Std. Error
	t-ratio
	p-value
	

	Const
	960.909
	232.363
	4.1354
	0.00020
	***

	X
	0.787134
	0.033725
	23.3398
	<0.00001
	***

	R
	-45.4658
	13.1692
	-3.4524
	0.00141
	***


Statistics based on the weighted data:

	Sum squared resid
	 0.374011
	
	S.E. of regression
	 0.100541

	R-squared
	 0.937442
	
	Adjusted R-squared
	 0.934061

	F(2, 37)
	 277.2270
	
	P-value(F)
	 5.39e-23

	Log-likelihood
	 36.68944
	
	Akaike criterion
	-67.37887

	Schwarz criterion
	-62.31223
	
	Hannan-Quinn
	-65.54694


Statistics based on the original data:

	Mean dependent var
	 3599.075
	
	S.D. dependent var
	 1705.357

	Sum squared resid
	  8977367
	
	S.E. of regression
	 492.5764



